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u= -kT(lnZ - 1nN) . . . . . . . . . . (8.18)
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Tds = dU + pdv - udn

nia dU = Tds - ydx + AdN . . . . . . . . . (8.19)



= -kT(lnZ-1nNt . . . . . . . . . . (8.21)

= -kTlnZ . . . . . . ..(8.24)

” ::
FIJMM G = -NkTlnZ . . . . . . . . . . (8.25)

T6lfl~?Ull'I  y fhi~u~Yu?a

77ndvJ~wifun75ao4 Stirling di~~u~Jwtnriaa  (factorial) &-I

In x.dx = x In x - x (bfe x >> 1)
I
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dA = -sdT - pdv

ti~wl#rnw~na~ts,f~~

tNk(lnZ-lnNt1) . . . . . ..(8.26)
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y, = . . . . . . . . . . (ti.38)
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aA*
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E = A* t TS = NkT2 =
( 1

. . . . . . . . ..(8.41)
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x1  gy2

U=E-EP

&I EP = Y, x, 6sEuwi

U = E - yex, . . . . . . . . . . ( 8 . 4 2 )

7lndUfl7~(8.40)t~Q~(8.41)~~~~
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E, = (nl t 1 hf
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uat: C” = Nk . . . . . . . . . . (8.71)
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3 ke, . . . . . . . . . (8 .76)

cx=



320



C” = 3R . . . . . . . . . . (8.79)

C" . . . . . . . . . . (8.80)
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tanh (L) . . . . . ..(8.114)
kT

M = N,q,tanh M,B
kT

EP = - MB . . . . . . . . . (8.115)
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6. 6 eun1ail
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0.A65,0.117.0.016  Ult:  0.002

Uazi  n = 0 ia\fi'lR  87%

3 . bita  n = 0 1 2 3 tJzIl >

0.394,0.239,0.145  uas  0.088

4 . 3.415

6 . C” = 3.02 Cal/mole. K

S = 1.570 cal/mole.  K


